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B.A/B.Com./B.Sc./B.HM./B.B.A/B.B.M. DEGREE EXAMINATION, DECEMBER 2020.

1. (a)

(b)

First Year
ENGLISH PAPER —1

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Read the following passage and answer the questions that follow.

Naval architects never claim that a ship in unsinkable, but the sinking of the
passenger-and-car ferry Estonia in the Baltic, surely should have never
happened. It was well designed and carefully maintained. It carried the
proper number of lifeboats. It had been thoroughly inspected the day of its
fatal voyage. Yet hours later, the Estonia rolled over and sank in a cold,
stormy night. Of those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers could get them.
The final death toll amounted to 912 souls.

(1) Where did the ferry sink?

(11) Why should the accident never have happened?

(11) What was the effect of the accident?

(iv) What was the passenger-and-care ferry called?

(v)  Give the synonym for, ‘fatal’.

Read the following passage and answer by choosing the right option :

Erosion of America’s farmland by wind and water has been a problem since
settlers first put the prairies and grassland under the plow in the 19tk
century. By the 1930’s, more than 282 million acres of farmland were
damaged by erosion. After 40 years of conservation efforts, soil erosion has
accelerated due to new demands placed on the land by heavy crop production.
In the years ahead, soil erosion and the pollution problems it causes are
likely to replace petroleum scarcity as the nation’s most critical natural
resource problem.

(1) As we understand from reading, soil erosion in America
(1) causes humans to place more demands on land
(2) 1s worse than it was in the 19th century
(3) happens so slowly that it is hardly noticed
(4) 1s the most critical problem that the nation faces
(1) Erosion of Farmland’s happens by
(1) Putting it under the plow
(2) Pollution
(3) Wind and water

(4) Placing new demands on the land



2. (a)

(b)

©

(d)

(111) The author points out in the passage that erosion in America
(1) has become severe and forced people to abandon their settlements
(2) occurs only in areas with no vegetation
(3) can become a more serious problem in the future
(4) was on the decline before 1930’s
(iv) The antonym for “accelerate” is
(1) Rapid
(2) Slow down
(3) Stagnant
(4) Stop
(v) It is pointed out in reading that in America
(1) petroleum is causing heavy soil erosion and pollution problems
(2) there are many ways to reduce erosion
(3) water is undoubtedly the largest cause of erosion

(4) soil erosion has been hastened due to overuse of farming lands.

Correct the following sentences :

(1) The small child does whatever his father was done

(11) The man to who I sold my house was a cheat

(111) Where is the shoes?

(iv) A laptop was very sophisticated and costly

(v) They were all shocked at his failure in the competition.
Rewrite as directed :

(1) They left for the airport. (Add a question tag)

(11) Jaya ordered the food. (Change the voice)

(1) He said, I did not lie. (Change into indirect speech)

(iv) Inspite of his hard work, the body didn't succeed. (Change into
compound sentence)

(v)  Susan will help you solve the problem. (Change into negative sentence)
Change into direct speech :

(1 Raju told me he was going to the barber

(1) Preethi asked me to pass the salt

Fill in the blanks with correct form of verbs given in the brackets :

(1) He wants Mary ————— (do) the dishes.
(11) Would you mind ——— (open) the window, please?
(1) He usually —————— (do) his homework in his room.

(iv) Let me ————— (leave) the classroom please.



(v) John ——— (watch) TV every night.
(e) Fill in the blanks with suitable words given in the end.

(1) She ——— the job offer.

(11) The dog ran ———— the yard.

(111) He ————— about his mistake in that test.

(iv) She ————— and walked away.

(v) John ——— his friends for a while and then went home.

(velled, visited, accepted, thought, across)
(  Rewrite the following set of jumbled sentences to make a coherent passage.
(1) He could have practiced law and spent a comfortable life.
(11) He was born on 224 October, 1869
(1) He choose to fight the British, for independence.

(iv) Mohandas Karam Chand Gandhi, popularly known as Mahatma
Gandhi.

(v) He was a lawyer by profession.

(g) Write three exchanges of dialogue between a person who wants to book a
reservation at a hotel and the receptionist there.

(h) Write a paragraph using the following hints.

Good for young and old — refresh mind — makes us smart and active — light
exercise — see nature — birds fly — flowers bloom — ponds — canals — full of
water — running water — sweet music — regular walk — enjoy most.

(1)  Write in about 100 words on any ONE of the following.
(1) The effects of peer pressure.
(11) The downside of smart phones.

(1) Growing number of people shopping online.

3. Write an essay on following :
(a) Justify the little, “A sense of the Future”.
(b) Bring out the humour in George Bernard Shaw’s, “Dilly at the Dentists”.
(¢) Summarize the story of “The Topaz Cufflinks Mystery”.
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1. Write short notes on the following :

(a)

Rose”.
(b)
(©
(d)
©)

Write about the comparison of the rose to the lady in the poem “Go Lovely

What is the central theme of “On killing a Tree”?
Summarize the poem, “The Express”.
How is the importance of nature brought out in the poem, “T'ables Turned”?

Justify the title, “Laugh and Be Merry”.

2. Write an essay on the following :

(a)
(b)
()

3. (a)

(b)

Explain the irony in Karel Capale’s, “The Fortune Teller”.
Bring out the appropriateness of the title, “God sees the Truth but waits”.
How is Srijut the victim in “The Gold Watch”?

Explain the following :

(1 Yes I did, but that “be in London. She is going to stay with me, and
then live with the same family”.

(1) You ask, what is our aim? I can answer in one word. It is victory.

(1) ‘T've seen wild cats in trees at night and their eyes shine’.

Explain the following :

(1 Up!Up! My friend and clear your looks why all this toil and trouble.

(1) Allis, if T have grace to use it so. An ever in my hard task Master’s eye.
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MAXIMUM MARKS :30
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1. (a) Write the significance of the Ramayana in 10 lines.
IARIVRITAARVHATEIpeY G2T aTaTiol forsrd ?
(b) Explain the qualities of scholars as described by Noble Vidura.

Rigefel sfrTdienfar afoda steronar Rigoya 2

2.  (a) Write the words uttered by celestial bachelor with Parvathi who was
performing Penance.

AgeTRed] arddt ufdr i aaenfer forzra 2

(b) Explain the help rendered by Rajavahana to Brahmin.
TG (&GSl (A21Gad ?
3. (a) Describe the six seasons as prescribed in the lesson.

UTGIHTSHORICY YEe] Jurad 2

(b) Write the story of intelligent Rabbit.

HRIGR212IS: 3l BT ferzrd 2
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1.  Answer the following with reference to context.

o IR |

(a) T GRATCHIN HISTIoG T |

(b)  sTepIofta Toga: |

(© forfegarfer o Aad

@) T e etz T

(e) oRRATE JEHATERH|

(f)  TFIr: Bt 1§ Yeleiaa faerd |

(@) 3T Profol GIPADCH! TATHI

(h)  govg {3 Jrofret: 7wl
2. Translate into English or Telugu.

STCEITSTRAT AT JTFTHTSII aT 3efdTed |

(@) 3T Pxd 1 ot @fe fBafxT T
BH TRHA G AATGHAGITIH |

(b)  JATcHeN IS eAteafiafian|
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(a)

(b)

()

(d)

SIS HSITON 5R: Ufved SeId ||

Write the forms of in the other numbers of given persons :

TR ETq F/TToT forzra|

(@)  oaf (i) oI
(iii) forsgey (v) g
(v) @ (vi) 3mGa
(vii) dogd (viii) 31|
Decline as per the case ending.
TATGHITRY 2TeGRITIOT ferard|

Q) I (i) @
(iii) el Gv) foaf
(v) ordl (vi) AR
(vii) Afar: (viii) oT&|

Combine Sandhis.
Ao |

(i) Y+ IE
(i) ©Tq + 3T
(v) ddq+d

(vii) §C + 7T
Dissolve.

faergaraenfer forzral
G)  TcIeH
(i) 3[cTafer:

(v) 3rept:

(vil) JDYSITE:

(i) g + 3I&:
(v) al+ 3/
(vi) T + et
(viii) 3 + 3Fect: |

(i) Ydem:
(iv) TR
(vi) ~stelicTe
(viii) TLOTH
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B.Sc. DEGREE EXAMINATION, DECEMBER 2020
First Year
Botany — I
Paper I — DIVERSITY OF MICROBES AND CRYPTOGAMS

MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

(a) Write about prokaryotic cell organization.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

BoSE Je s Sea DToYerR) ISBoBok.

Write the economic importance of bacteria.

e BBOI e85 [P ng)gBR [FPaod.

Write an essay on bacillariophyceae.
LRBBBITPIP TR FPOD0E.
Explain the life cycle of oedogonium.

SeE R OO0 @BE); BB HS°RY) HB0WOG.

Write the reproduction and economic importance of lichens.
BP0 (058 S0BA &8 (FH00PgBR0 [FPAHO.

Explain the life cycle of Alternaria.

9BIBAI® B, BB HS°R) HHB0HOG.

Write the general characters and classification of Bryophyta.

[PIBIPEr NIy TR0 20BN HPELERL FPaHos.

Describe Marchantia sporophyte.
07, DA ﬁ)g De3tsB0 DHBoDods.

Explain heterospory and seed habit.
DY ﬁ)gzﬁwé 208050 DB Grdeary HHBoHos.

Explain the T.S. of Marselia rhizome.
$0°8)dasr §70y @8 B0 9HBoVOE.
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First Year

Botany — I
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Paper I — DIVERSITY OF MICROBES AND CRYPTOGAMS

MAXIMUM MARKS : 30
ANSWER ALL QUESTIONS

Mycoplasma.

E Y.

SCP.

RECNEIOE

Nostoc.

TPRE.
[CH]

Coenobium.

550m0.

Globule.
ﬁ:aooéeg.

Cysto carp.

ﬁ)zbeg S"S)).

Plurilocular sporangia.

2053000300 ﬁ)gzﬁw‘%ow’@o.

Systematic position of Albugo.

eae»?)éﬁ’s 58ESes FoHdN.
N [

Uredospore.

A0BEDHS.



10.

11.

12.

13.

14.

15.

Antherediophore.

3058 EBI°B.

Elaters.

a‘éeod‘g).

Peristomial teeth.

BD0VY SoTren.

Rhynia.

BROL.

Carinal canal.

508565 3.

Siphanostele.
PSS,

(V)
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B.Sc. DEGREE EXAMINATION, DECEMBER 2020
First Year
Zoology
Paper I — BIOLOGY OF INVERTEBRATE AND

CELL BIOLOGY
MAXIMUM MARKS : 30

ANSWER ALL QUESTIONS

(a) Describe the structure and life cycle of the polystomella with reference to
alternation of generation.

ORI DOEB0 2B DB HOBR NS0 B0 KHBOH FrALIH.

(b) Explain different types of Canal synthesis in sponges.
)0BELS’ DN Y520 Koy H55Ke HBOD kN,
Write short notes on the following :
DD B0 [$HOL DITTIDy :
(a) Corals and Coral reef formation.
[DFPTre0 080K |HFrddBen.

(b) Metamarism.
DD0POER DgID0.

(¢) Torsion in gastropoda.
WL%ﬁavweS‘s 0OESEL.

(d) Trochophore larva.
1€5°5°9%5 eroes.

(a) Explain the life cycle and pathogenic of fasciola hepatica.
DRBI® Wearedse BB DB LBA TBSeEEB0 DHBOWKR.

(b) Describe the structure and affinities of the peripatus.
DEVR DTYEIHN HBOKN Bow0E eroLTR INBOWR.



(DSZOO 11)
ASSIGNMENT-2
B.Sc. DEGREE EXAMINATION, DECEMBER 2020
First Year
Zoology
Paper I — BIOLOGY OF INVERTEBRATE AND

CELL BIOLOGY
MAXIMUM MARKS : 30

ANSWER ALL QUESTIONS

Write short notes on the following :
DD Bock) [$HOLH randNoy :

(a)

(b)

()

(d)

(a)

(b)

Leech — Nephridia

2301 — zég)éb‘mo

Prawn — Cephalic appendages
8"ty — 35° esrorren

Veliger and Glochidium larva

29235 S080%0 R PEo0 Gowseen

Water vascular system in star fish.
9 €. [ A “
@e;&)q 230 (DS ;6526&).

Describe briefly the ultra structure of Animal cell.
2O Eea DTREIAV MHB80D [EPAS0H0.

Explain the structure and different types of chromosomes.
ER0°R8500 DO%Ea0 20BAH DD 85 180 DHBOWHN.
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First Year

CHEMISTRY -1
MAXIMUM MARKS : 30

ANSWER ALL QUESTIONS

1. (a) Explain the bonding and reactivity of xenonoxides.

(b)
2. (a)
(b)
3. (a)
(b)

Bred es§yBe Bo¥); 20650 208050 63 HE5OR DHBoHOG.

Explain the electrophillic addition and substitution reactions.

P8 208050 BoE 35RO D3BoBOE.

Explain Langmuir adsorption isotherm and its applications.

eroR0B BT HE FDI°H B D80, WRDEHOR HHB0WOE.

Explain the defects in crystals.

X)q)éﬁgoé‘s S0 58008,

Explain electrophillic substitution reactions of benzene with their
mechanism.

BoERS® Jo§ D8 B0 MIEBI WseRL dHBoBOG.

Explain the following :

(1) Markownikov's

(1) Anti Markownikov's

(1) Zaitsevs rule.

1808 T3 580w :
(1) D675, 9GS
(i) €063 D675y DG

(i) &SRS 8.



(a) Explain M.O. theory and draw M.O. diagrams for He; and NO molecules.

D835me S5 deroso 380Hoé. He;, NO 58557 9o Adbod.

(b) Explain the following :
(1)  Co. precipitation
(1) Standard solution

(1) Compton effect.
1808 T3 9580w :

(1) D3 90
(1) (e 180

(iii) 50D Derdo.

Explain the structure of xenon oxides.

§a7°5 5560 QL) RTYEIOR 95803508,

Write any two applications of inductive effect.

(D8 (557750 GBoo¥); Bo RVDETOKR IHB0DOE.

Explain concept of resonance.

@RISR0 BBooE), ﬁ)zgoéom DHBOBN.

Explain Bayer's strain theory to explain the stability of cycloalkanes.

DS 08,00 Boo¥); BB BAHE) dgrodos® H38oHok.
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CHEMISTRY -1
MAXIMUM MARKS : 30

ANSWER ALL QUESTIONS

. Derive relation between critical constants and Vander Waals constants.

8e38S ;D)moswm 208050 T0&EdTeS ;p)c?oswo 20655 0GR [FONOG.

Derive Raoult's law equation.

DY) DAETEa IHBoD0G.

Discuss the optical properties of colloids.

8 eronbe By, sRsS ogren FoLod.

What is absolute and relative error?

BOF°G S8 HowoRS S'arei K08y EPaHod.

Explain applications of colloids.

?qooo&o Boo¥); BRODETe K08y DHB0WD0G.

Explain the orbital picture of benzene.

Bow GBoo¥); SBHIED B Hero Adod.

Explain freunds methods of preparation of cycloalkanes.

DS 0B)00 ([H°E) BA8 5ES T dNBoBok.

Define space lattice and unit cell.

QR 3R DB ADIERE) RS K08y DBV




